4 (Iterative)
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11
= 16.9697

12
=10.1587

13
=4.2424

14
= 7.1999

15
= 25397

16
= 36735

3.3

3l

4
509% 0=03 1P=151

0=04 1p=111 =107143
| 75% 0=02 1P=15 1

0=03 16=151 =751
100% 0=03 1p=15 1

0=04 1P=111 =26786
' 125% 0=01 18=20 1

0=03 ,p=151 =2715
150% 0=02 1P=151

0=03 1p=151 =18855
175% 0=01 1P=20 1

0=03 IP=151 =13853

()5 30,50,70,100 200
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A 2Vgp, anr der
I nPxy dp2  nPpydp



f 2 A n
gm) = 40 7 aP, 1"
92(0j3m) dmdp  x0vy h?ﬁx ) dmdp ang g dm)J

d :
dp%l?n = gi2(o,p,m)

_ 40 k nx Nd2Px 12 x
g33(eipi ) dm* ;l:(\n_ 2) dm:  nPx ‘_||

01P1
Px
2
2 01P1
Y g P o) &ror 0 ) qlfio’Po )-1 N0 )
P T po 21(A0’Po’/\o) £22(’\0’Po’ h) Po’"h) 2060 0 )
Mmoo mo (P) ) &0 0 ) 8% 0 0 ) g (° )_
001P01 o 01P1
1 2
34



39

Aoz oLiz iR (X)Fx - 12123
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- _ i dF(x)" ) ) d2F(x)
OHEPM) = gmgp oo 11 afi )1 am 37 (EOT D g
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R =y g, T FOFRD gy
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2 01P1
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i 1=12 1000
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Varié,) = \Y(.e1-9,Y ; =123

Varié1) + Variéi) + Varié 9

Varme 3

Varme 3

Bias{ép) = dp-01 ; P=123

Bias(él) + Bias(e2) + Bias(é3
Biasme = () (22 &

Biasme 3
MSE

34

(FORTRAN)
AVDAHL 5860
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